EARAROBEEIERT — 2 N— IBISH —F

20165104308 (H) 15E1AE4H

M C2—7# C2 ¥5%3mL ‘ (%] & ‘ [eErE] - | 4 (H) 14000 FE
[AE£] 1% :140,000 M  23#&:32,000”  33%&:13,000 ™  43%&:7,000H ~ 53%&:4,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
17l 777727207 44 suélﬁ');ﬁ 1:(3_0).3 1-1-1-1 [37.6| — 1 514 éig (£8)
QELTHANAN B T—HTLITT R #2 1aa5, -1
N RHEEC :30. == X = hEFE (1£8)
1 6 IAREALEES4 5 € 54.0 1(33?)9 ro2 |39 s (‘:316) JNEE .
R:FLNnvwyTFIE B:¥a—-TFU— HH Bz
AhE A . _3-3- — WEEA (E5)
N : B PERE: S e oA IR 2y |FmEma
L:IUFLT4XT B:TTNILYT = R
N _ o NMAYZ : —6-5- — HHRz (EE)
A g|7A—U—27y7 o9 | A 1.(332).8 6-6-5-5 | 38.5 6 (4_612) s
LAY w4 =9 B:Fdy RR—%2— BRT7— L
ST T #o7 | WA 1:33.0 4-4-4-4 |39.5| — | 7 | 497 |MHERZ (£H)
5N 4| FPT VT 56.0 (3/4) (1) |BAEE
LZRXNTHR BATeTvTr—T04 e 4535
N . REE_ :33. —7-6- . - AT (£8)
N - BERZEREZ S R R A b Gy [maaer
L:8=/FXLLy b BiFUT -0 =Y tae ]
— . . P sUNESS : -8-7- — MHRE (EE)
7lsl5| EFRIT— K # o7 | ER 1.(3133.9 8-8-7-7 | 39.1 5 zzgz; WRL
R:xA1=ZGr7—R B:757-T—F FHBSE
S TS o9 | AEHEE 1:35.0 5-5-8-8 |40.3| — 8 479 | HIHRZ (ER)
gl1]1|2 K/ TF%E= 5.0 © Gy |EEEE
RR—NFAFLF— YT H—FE— LS
® I —F—@EBIERL
13=7r= 7,6,3,4,1,8,2,5
2al=3F= 7,6,3,4,1,8,2,5
30—74— 7,6,3,4,8,2,5,1
41—+ — 7,6,3,4,8,2,5,1
[ RN
B OB 7 100M 714K 6-7 100H B E 6-7 150M &R 3-6-7 150H
% B 7 100M 3-7 120M B H 7-6 170M JEH 7-6-3 210
6 130M 3-6 110
3 1204

ABICOVWTRDTEEERROODE. TR LIV,




